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S3

More vs. Fewer

Jeremy has a few candy canes and

candy sticks. Which of these does

he have more?

Candy Canes Candy Sticks3)

The Rose Bouquet The Tulip BouquetTeresa made a bouquet of roses and

a bouquet of tulips. Which bouquet

has fewer !owers?

4)

Liam and Lisa are stacking nesting

cups. Whose stack has fewer cups?
Liam’s Stack Lisa’s Stack1)

Joe and June were stringing beads

to make bracelets. Who strung

more beads?

2) Joe’s Bracelet June’s Bracelet

Liam’s

Lisa’s

Joe

June

candy sticks

candy canes

the tulip bouquet

the rose bouquet
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